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QUESTION 1

Your client has subscribed to Financial Reporting Compliance and would like to address risks using 

treatment plans. 

Which option shows the settings that will help in achieving this configuration? 

A. Configure Module Perspectives > Edit Financial Reporting Compliance > Risk-Organization mapping set to required,
active. 

B. Configure Module Objects > Edit Risk Object Configuration > Treatment = Show 

C. Configure Module Objects > Edit Risk Object Configuration > Treatment = Hide and Default 

D. Configure Module Objects > Edit Control Object Configuration > Result = Show 

E. Configure Module Objects > Edit Risk Object Configuration > Result = Show 

Correct Answer: D 

 

QUESTION 2

Your client has three operating units. 

What are two ways in which you can exclude an operating unit where there are not enough personnel to 

allow segregation of duties? (Choose two.) 

A. In a model, create a new condition logic filter, select the operating unit attribute, select the operating unit value, and
then perform an exclusion though the advanced options check box. 

B. Navigate to the Create Access Global Condition page and create a new condition logic filter, select the operating unit
attribute, select the operating unit value, and then perform an exclusion though the advanced options check box. 

C. Navigate to the Create Access Global Condition page and create a new condition logic filter, select the within same
operating unit attribute, select the value yes, and then perform your exclusion though the advanced options check box. 

D. In a model, create a new condition logic filter, select the within same operating unit attribute, select the value yes,
and then perform your exclusion though the advanced options check box. 

E. In a model, create a new condition logic filter, select the operating unit attribute and select the operating unit value. 

Correct Answer: CD 

 

QUESTION 3

You have created a risk definition R100 and have created a new control C100 for this risk. No user has been assigned
the Risk or Control reviewer and approver roles. What will be the state of R100 and C100 after submitting? 

A. Both R100 and C100 will be in the "In Review" state. 
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B. Both R100 and C100 will be in the "Awaiting Approval" state. 

C. Both R100 and C100 will be in the "Approved" state. 

D. Both R100 and C100 will be in the "New" state. 

Correct Answer: B 

 

QUESTION 4

Which controls can user A manage for the following Control Manager role Configuration? See details of perspective
trees and control-perspective association below. 

A. All controls 

B. Controls 2 and 4 

C. Controls 1, 2, and 4 

D. None 

E. Controls 1 and 2 

Correct Answer: E 

 

QUESTION 5

You can relate objects in Financial Reporting Compliance. Which statement is true about editing or creating related
objects in the Related Objects section on the Risk Definition page? 

A. You can relate only process objects. 

B. You can relate a new process and a new control. 

C. You can relate only control objects. 
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D. You can relate only an existing control, but not a new control. 

Correct Answer: B 
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